METROTUNNEL
A 4

Works notice

Scaffold installation
Nicholas Building, southern wall

Friday 10 November to Sunday 12 November

As part of Metro Tunnel works, the project team will soon commence the
remediation of the Nicholas Building’s southern wall, which faces onto the
Flinders Quarter site. To prepare for these remediation works, a worker access
scaffold needs to be installed below window level of the Nicholas Building.

What we are doing When

— Installing a worker access scaffold halfway up the — 6pm Friday 10 November to 6pm Sunday 12 November.

southern side of the Nicholas Buildin ! ) .
° We appreciate your patience while we undertake these

— Further details of the remediation works will be provided works.

in future updates.

If you have any questions or concerns, please contact the
Metro Tunnel Project Information Line on 1800 105 105.
Further information on Town Hall Station works can be
found at metrotunnel.vic.gov.au

What to be aware of

— These works will require drilling into the Nicholas Building
to affix the scaffold to the building

— Drilling activities will generate some periods of high-level
noise and vibration

— Works will be continuous from 6pm Friday 10 to 6pm
Sunday 12 November, however noisier activities will be
carried out during the day where possible.

— The worker access scaffold will extend halfway up
the Nicholas Building and will not reach the height of
any windows.

More information _ _
To find out more about the Metro Tunnel Project: ‘ Interpreter Service (03) 9209 0147

@ metrotunnel.vic.gov.au

@ 1800 105 105 (24 hours a day, 7 days a week) It should be noted that this information is current at the time of
) ) ) ) printing, however due to unforeseen circumstances, changes

Rail Projects Victoria may occur. Please visit railprojects.vic.gov.au for

PO Box 4509, Melbourne, VIC 3001 the latest updates.
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